T
A
0l
\\J
N
M
b
~
/\
u
T
v
v
E
&

N—RIUXU

T-SLOT BOLTS

ErRON) AMEQD

No.E-465

TZ2OvRRILorsooay

SCM435(ESR BEAHRC30+5
2w

12.9

4o i -

L s Qi ES (BN e
+—5'—No. No. WATH#ED:  AGQEE) B C D E F HEg i
16021 BTH1250 12 M12x1.75 50 35 117 18 7 60 1,720
16022 BTH1280 12 M12x1.75 80 55 117 18 7 75 1,830
16023 BTH1212 12 MI12x1.75 © 125 75 117 18 7 110 2,070
72913 BTH1216 12 MI12x1.75 160 100 & 11.7 18 7 135 2,330
16024 BTH1220 12 M12x1.75 = 200 120 = 117 18 7 160 2,520
16025 BTH1450 14 - M12x1.75 50 35 137 22 8 70 1,760
16026 BTH1480 14 M12x1.75 80 55 - 137 22 8 100 1,900
16027 BTH1412 14 M12x1.75 = 125 75 137 22 8 120 2,210
72914 BTH1416 14 M12x1.75 = 160 100 & 137 22 8 150 2,460
16028 BTH1420 14  MI12x1.75 = 200 120 = 137 22 8 180 2,550
16029 BTH1663 16 M16X2 63 45 157 25 9 140 2,250
72915 BTH1680 16 M16x2 80 55 . 157 25 9 160 2,280
16030 BTH1610 16 M16X2 100 65 = 157 25 9 180 2,520
72916 BTH1612 16 M16X2 125 85 157 25 9 225 2,760
16031 BTH1616 16 M16X2 160 100 = 157 25 9 260 3,080
72917 BTH1620 16 MI16X2 200 125 = 157 25 9 315 3,410
16032 BTH1625 16 M16%2 250 150 = 15.7 25 9 380 3,760
16033 BTH1863 18 M16X2 63 45 177 28 10 160 2,390
16034 BTH1810 18 M16X2 100 65 177 28 10 203 2,550
16035 BTH1816 18 M16X2 160 100 = 17.7 28 10 280 3,220
72918 BTH1820 18 M16X2 200 125 177 28 10 330 3,600
16036 BTH1825 18 M16X2 250 150 = 17.7 28 10 430 3,910
16037 BTH2080 20 M20x2.5 80 55 197 32 12 290 3,370
16038 BTH2012 20  M20x2.5 125 85 . 197 32 12 390 3,760
16039 BTH2020 20 M20x2.5 200 125 = 197 32 12 550 4,340
16040 BTH2031 20  M20X2.5 315 190 = 197 32 12 800 6,290
16041 BTH2280 22 M20%2.5 80 55 217 35 14 330 3,370
16042 BTH2212 22 M20x2.5 125 85 217 35 14 428 3,760
16043 BTH2220 22 M20x2.5 200 125 217 35 14 570 4,340
16044 BTH2231 22 M20%2.5 315 190 © 21.7 35 14 820 6,290
16045 BTH2410 24 M24x3 100 70 237 40 16 540 4,620
16046 BTH2416 24 M24x3 160 110 . 237 40 16 770 6,010
16047 BTH2425 24 M24x3 250 150 & 23.7 40 16 1040 7,400
16048 BTH2440 24 M24x3 400 240 - 237 40 16 1410 10,700

http://www.nabeya.co.jp



	F214J_0502

